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Fifth Semester B.E. Degree Exammatlon, Dec.09/J an.l .

Database Management Systems

“Time: 3 hrs. S S Max. Marks:100
' - Note: Answer any FIVE full questions, selecting
at least TWO questions from each part.
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PART — A ,

g 1 a. Explain the typical components of a DBMS with a neat diagram. (10 Marks)

i b. Define and explain the following terms with an example each : - o

= 1) Snapshot i) Intension  1iii) Extension  1v) Schema construct - (05 Marks)

ER c. What is meant by “persistent storage for program objects™ Explamn. (05 Marks)

E 2 a. Explain how role names are 3351gned in case of recursive relationships? Tllustrate this

5 - concept with a diagram. _ - _ (06 Marks)
% > b. What is meant by partial key? Explain. (04 Marks)
- %:-:; c. Design an ER diagram for keeping track of mformatlon about an AIRLINE database taking
Eéh into account at least six entities. - . - (10 Marks)

3 a. Define referential “ntegrity constraint. Explain the importance of referential integrity_

. constraint. How is this constraint implemented in SQL? _— . (08 Marks)

~ b. Consider the following relations and write relational algebra queries: -
Employee ( Fname, SSN, Salary, Super-SSN, DNo) ; Works ON (ESSN, PNO hours) ;
Department (Dname, Dnumber, Mgr-SSN) ; Dependent (ESSN, Dependent name)
i)  Retrieve the highest salary paid in each department. '
ii) Retrieve the name of managers who have more than two dependents. _
iii) Retrieve the number of employee’s and their average salary working in each

compulsorily draw diagonal cross lines on the rematnins
1, appeal to evaluator and /or equations written eg, 42+8

department. ) _ - (12 Marks)
4 a. ExplainIN and EXISTS operators with suitable examples. (08 Marks)
b. Consider the same data given in Q3(b), and write the following quenes In SQL ' '
- i) .Retrieve the name of all employees who do not have supervisor.

ii) Retrieve the name of each employee who has a dependent with the same first name

_ and same sex as the employee. '
111) Retrleve the SS.. of all employees who work on pro;ect numbers 1, 2 3. (12 Marks)

_ . ' PART — B

'5 a How is a view created and dropped? What problems are associated with updating of views?

. (10 Marks)
b. What is embedded SQL? With an example, illustrate how would you connect to a database,
fetch records and display. Also explain the concept of stored procedure in brief. (10 Marks)

6 a. Which normal form is based on the concept of transrcwe functional dependeneyV Explain

2. Any revealing of identific.

~ with an example the decomposition into 3NF. (10 Marks)
b. Define multi valued dependency. Explain 4NF with an example (10 Marks)

7 a. Explain the three phases involved in an ARIES algorithm with an appmprlate example.
(10 Marks)

b Given a relation R with four attributes R = {A B C D} and the followmg FD, 1dent1fy the
candidate keys for R and the highest normal form.

Important Note ;: 1. On completing your answe”".

)C—->D,C>A,B—>C 11)B——>C D>A - (10 Marks)
8 Write short notes on : -
a. Two phase locking protocol b. Transaction support in SQL _
c. Write ahead log protocol d. Time stamp ordering algorithm (20 Marks)
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